

Ozkan, B. (2021). The effect of drama-based activities on environmental sustainability behaviors of 60-72 months-old children. *International Online Journal of Education and Teaching (IOJET)*, 8(3).1486-1496.

Received: 10.03.2021Revised version received: 12.05.2021Accepted: 15.04.2021

# THE EFFECT OF DRAMA-BASED ACTIVITIES ON ENVIRONMENTAL SUSTAINABILITY BEHAVIORS OF 60-72 MONTHS-OLD CHILDREN

(Research article)

Banu Ozkan<sup>(b)</sup> (0000-0001-7844-6115).

Kütahya Dumlupınar Üniversitesi, Turkey <u>banu.ozkan@dpu.edu.tr</u>

Biodata: Banu Ozkan is an Assistant Professor at Kütahya Dumlupinar University Faculty of Education Department of Pre-school Education. Her field of study is preschool education. Her research interests cover science education, environmental education, brain based learning and cognitive development.

*Copyright* © 2014 by International Online Journal of Education and Teaching (IOJET). ISSN: 2148-225X. Material published and so copyrighted may not be published elsewhere without written permission of IOJET.

# THE EFFECT OF DRAMA-BASED ACTIVITIES ON ENVIRONMENTAL SUSTAINABILITY BEHAVIORS OF 60-72 MONTHS-OLD CHILDREN

### Banu ÖZKAN

banu.ozkan@dpu.edu.tr

#### Abstract

The study aimed at examining the effects of drama-based activities on environmental sustainability behaviors of preschool children aged 5-6. The participants of the study were composed of 20 volunteer children selected via convenience sampling model at a kindergarten in Kütahya in 2018-2019 school year. Out of 20 participating children, 10 were in the experimental group, and the other 10 were in the control group. The activities for the experimental group were prepared by the researcher, and implemented through drama method 2 days in a week. In the control group, the activities were also prepared by the researcher in accordance with the Preschool Curriculum introduced by the Ministry of Education (MoNE) in 2013. Both activities in both groups lasted 8 weeks in total, and 16 activities were conducted in the experimental group. The data were collected via the "Environmental Sustainable Behaviors Evaluation Scale for 60-72 Months Old Children" developed by Özkan, Tuğluk and Yiğitalp (2018), and analyzed using Mann Whitney U test, Wilcoxon test, and Kolmogorov Smirnov test. The results revealed that, there was a significant difference between the experimental group's pre-test and post-test scores, and between the post-test scores of the experimental and the control groups on behalf of the experimental group.

Keywords: Sustainability, environmental education, drama, pre-school education

#### **1. Introduction**

Pre-school period, which is the basis of human life, has a critical importance in terms of gaining many skills and developing personal behaviors. During this period, children are most open to learning as they are curious and questioning. Preschool period is undoubtedly the most important period to start environmental education. Issues such as environmental education, environmental awareness, sustainability are learned first in the family and then at school. According to Ünal (2011), if there is no education in the family, the importance of the school increases even more. It should be ensured that the education system in question and its basic elements, teachers and students are made aware of this purpose in the best possible way. Awareness raising is important in order to achieve positive improvements in individuals' behavior and gains in environmental protection.

Sustainability education in early childhood forms the basis for the formation of desired behaviors and attitudes in the early period (Güler Yıldız & Korkmaz, 2017). Sustainability education is an approach that will contribute to the development of a more sustainable economy and environmental formation of students and consider future generations (Bell, 2016). Environmental sustainability includes improving and protecting ecological environmental resources (Siraj-Blatchford, Smith & Samuelsson, 2010). To ensure sustainability, "3-R's" are as in the following;



- Reduce
- Reuse, and
- Recycle (Bener & Babaoğul, 2008).

Sustainability is also an important issue to address current and future issues. Although it is the duty of every segment of the society in terms of sustainability, educators have more responsibility (Davis, 2010). The preschool teacher should have a role to act, research, question and support with the children while integrating the preschool curriculum with the processes related to sustainability (Ahi, 2021).

Studies on environmental education attract the attention of children. Children enjoy observing the environment, asking questions, and doing research to find answers to their questions. One of the most used methods in the preschool period is drama. In the drama, the child internalizes the role he / she plays, has fun while playing, and learns at the same time. Since drama offers children the opportunity to learn by experiencing, it ensures that learning is permanent. Therefore, it should be preferred in environmental education activities.

Drama is an entertaining game, process and group interaction, questioning and evaluation process, activities that support children's imagination and creativity, enable them to learn through experience, have specific goals, and are based on motor movements they perform with their teachers in groups (Yıldız, 2016; Cottrell, 1987; Önder, 2010). When the literature is reviewed, there are several studies showing the effects of drama on many skills in preschool children. Ölekli (2009) and Erdoğan (2006) concluded that drama education positively affects the mathematics skills of preschool children. Çilengir Gültekin (2019), in her study investigating the effect of the drama-based STEM curriculum on the scientific process and creative thinking skills of 6-year-old children, reveals that the drama-based curriculum is effective in providing children with creative thinking and scientific process skills. Değirmenci Bahar (2020), in his study examining the effect of drama-based preschool education on the problem solving and social skills of children, stated that the drama-based activities had a significant effect on the increase in the problem solving skills scores of the children in the experimental group. Özkan and Tuğluk (2018) reached the conclusion that drama-based mathematics activities improve scientific process skills in children.

In the preschool curriculum, drama, both as a method and as a type of activity, is very effective in learning because it is an approach that offers the opportunity to learn by living and makes the child active. The drama method was preferred in this study, based on the results of the research in the literature and the results obtained from activities with children. Although there are many studies about drama in the literature, there are few studies based on giving environmental activities through drama. This reveals the importance of research.

The research question of the study was formulated as "What is the effect of dramabased activities on environmental sustainability behaviors of 60-72 months-old children?"



# 2. Method

#### 2.1. Research design

In the study, pre-test, post-test experimental research design was adopted. The following table illustrates the research design of the study (See Table 1).

Table 1. Research design

Groups	Registration	Pre-test	Implementation	Post-test	
Experimental	R	01	Drama-based	03	
Control	R	O2	MoNE program	O4	

R: Randomly

O1 ve O3: Pre-test and Post-test results of the Experimental group

O2 ve O4: Pre-test and Post-test results of the Control group

### 2.2. Participants

The participants of the study were composed of 20 volunteer children selected via convenience sampling model at a kindergarten in Kütahya in 2018-2019 school year. Out of 20, 10 of the participant children were in the experimental group, and the other 10 were in the control group after consent forms were obtained from their parents and teachers.

Table 2 below shows the gender of children in each group.

Table 1. Gender distribution of children in each group

Gender	Experimental G.	Control G.
Gender	Ν	Ν
Girl	5	5
Boy	5	5
Total	10	10

As it is seen, in each group there were 5 girls and 5 boys.

# 2.3. Data collection tool

The data of the study were collected using the "Scale of Sustainable Behaviors Towards the Environment for 60-72 Months Old Children" developed by Özkan, Tuğluk and Yiğitalp (2018). The scale consists of two sub-dimensions, awareness and consciousness, and 20 items. The reliability coefficient of the scale is Cronbach alpha = .92 (Özkan, Tuğluk&Yiğitalp, 2019).



### 2.4. Analysis of the data

The data were analyzed via SPSS-20 program. In terms of statistical technique; the Mann Whitney U test, one of the non-parametric tests, was used to determine the difference between the experimental group-control group pre-test and post-test scores, and the Wilcoxon test, one of the non-parametric tests, was used to determine the differences between the experimental group pre-test and post-test scores. Before statistical analysis, the normality of the distribution was checked using the Kolmogorov Smirnov test, and it was observed that it did not show a normal distribution.

### 3. Findings

Findings of the study are presented using tables as in the following:

Table 3. Mann Whitney U test results showing whether the pre-test scores obtained from the awareness sub-dimension differ between children in the experimental and control groups

Groups	N	S.O	S.T	U	р
Experimental	10	10,85	108,50	46 50	771
Control	10	10,15	101,50	46,50	,771

Table 3 shows that the scores of the experimental and control groups from the awareness subdimension did not differ (p > 0.05). In other words, the children in the experimental and control groups are close to each other before the implementation.

Table 4. Mann Whitney U test results showing whether the pre-test scores obtained from the consciousness sub-dimension differ between children in the experimental and control groups

Group	Ν	S.O	S.T	U	Р
Experimental	10	10,60	106,00	40.00	025
Control	10	10,40	104,00	49,00	,935

Table 4 shows that the scores of the experimental and control groups from the sub-dimension of consciousness did not differ (p > 0.05). In other words, the children in the experimental and control groups are close to each other before the implementation.

Table 5. *Mann Whitney U test results showing whether the pre-test scores obtained from the whole scale differ between children in the experimental and control groups* 

Group	Ν	S.O	S.T	U	Р
Experimental	10	10,70	107,00	48,000	,875
Control	10	10,30	103,00		



Table 5 shows that the scores of the experimental and control groups from the whole scale did not differ (p > 0.05). In other words, the children in the experimental and control groups are close to each other before the implementation.

Table 6. *Results of the Wilcoxon Test about the pre-test and post-test scores of the children in the experimental group according to the awareness sub-dimension* 

Pre-test-Post-test	N	S.O	S.T	Z	Р
Negative line	0	0,00	0,00		
Positive line	9	5,00	45,00	-2,69	,007
Equal	1				

The result of the Wilcoxon test conducted to determine the difference between the pre-test and post-test scores shows that there was significant difference between the scores of the children in the experimental group according to the awareness sub-dimension (p < 0.05). This result shows that the program applied to the experimental group was effective.

Table 7. Results of the Wilcoxon Test about the pre-test and post-test scores of the children in the experiment group according to the consciousness sub-dimension

Pre-test-Post-test	Ν	S.O	S.T	Z	Р
Negative line	0	,00	,00		
Positive line	8	4,50	36,00	-2,59	,009
Equal	2				

As a result of the Wilcoxon test conducted to determine the difference between the pre-test and post-test scores of the children in the experimental group in the consciousness subdimension, a significant difference was found between the scores (p <0.05). This result shows that the program applied to the experimental group was effective.

Table 8. Results of the Wilcoxon Test showing whether the pre-test and post-test scores of theexperimental group from the whole scale differentiated or not

		55			
Pre-test-Post-test	Ν	S.O	S.T	Ζ	Р
Negative line	0	,00	,00		
Positive line	9	5,00	45,00	-2,69	,007
Equal	1				

As a result of the Wilcoxon test conducted to determine the difference between the pre-test and post-test scores of the children in the experimental group from the whole scale, a significant difference was found between the scores (p <0.05). This result shows that the applied program was effective.



Pre-test-Post-test	Ν	S.O	S.T	Z	Р
Negative line	2	3,00	6,00		
Positive line	2	2,00	4,00	-3,78	,705
Equal	6				

Tablo 9. Results of the Wilcoxon Test about the pre-test and post-test scores of the children in the control group according to the awareness sub-dimension

As a result of the Wilcoxon test conducted to determine the difference between the pre-test and post-test scores of the children in the control group according to the awareness sub-dimension, there was no significant difference between the scores (p > 0.05).

Table 10. Results of the Wilcoxon Test showing whether the pre-test and post-test scores of the children in the control group differentiated according to the Consciousness Sub-Dimension

Pre-test-Post-test	Ν	S.O	S.T	Z	Р
Negative line	5	3,50	17,50		
Positive line	1	3,50	3,50	-1,63	,102
Equal	4				

As a result of the Wilcoxon test conducted to determine the difference between the pre-test and post-test scores of the children in the control group in terms of the consciousness subdimension, no significant difference was found between the scores (p>, 005).

Table 11. Results of the Wilcoxon Test about the pre-test and post-test scores of the children in the control group according to the Whole Scale

Pre-test-Post-test	Ν	S.O	S.T	Z	Р
Negative line	5	3,20	16,00		
Positive line	2	6,00	12,00	-3,47	,729
Equal	3				

The Wilcoxon test conducted to determine the differences between the pre-test and post-test scores of the children in the control group in terms of the whole scale shows that there was no significant difference between their scores (p > 0.05).



Group	Ν	S.O	S.T	U	p
Experimental	10	14,60	146,00	0.00	,001
Control	10	6,40	64,00	9,00	

Table 12. Mann Whitney U test results showing whether the post-test scores obtained from the awareness sub-dimension differ between children in the experimental and control groups

There is a significant difference between the post-test scores of the children in the experimental and control groups according to the awareness sub-dimension (p <0.05). This difference is in favor of the experimental group. In other words, it can be said that the program applied to the experimental group was effective.

Table 13. Mann Whitney U test results about the post-test scores of the children in the experimental and the control groups in terms of the consciousness sub-dimension

Group	Ν	S.O	S.T	U	р
Experimental	10	14,35	143,50	11,50	,003
Control	10	6,65	66,50		

Table 13 illustrates that there is a significant difference between the post-test scores of the children in the experimental and control groups in terms of the consciousness sub-dimension (p < 0.05). This difference is in favor of the experimental group. In other words, it can be said that the program applied to the experimental group was effective.

Table 14. Mann Whitney U test results about the post-test scores of the children in the experimental and control groups according to the whole scale

Group	Ν	S.O	S.T	U	р
Experimental	10	14,70	147,00	8,00	,001
Control	10	6,30	63,00		

The table shows that there is a significant difference between the post-test scores of the children in the experimental and control groups according to the whole scale (p <0.05). This difference is in favor of the experimental group. In other words, it can be said that the program applied to the experimental group was effective.

# 4. Discussion, Conclusion and Suggestions

As a result of the research, it was found that the pre-test scores of the experimental and control groups did not differ, there was a significant difference between the pre-test and post-test scores of the experimental group, there was no significant difference between the pre-test and post-test scores of the control group. It was observed that there was a significant difference between the scores. According to these results, it can be said that the drama-based environmental curriculum applied to the experimental group was effective. There are studies



in the literature on pre-school environmental education. The findings of these studies reveal the importance of environmental education in the preschool period.

In another study in which drama was used as a method, Tanrıverdi (2012) aimed to determine the effect of education given with creative drama method on environmental awareness of preschool children. It was observed that the creative drama activities created with the environmental education subjects applied in the experimental group significantly increased the knowledge and awareness levels of the children about the environment. In another study, Aydın and Aykaç (2016) worked with 4-year-old children and stated that creative drama had a positive effect on environmental awareness in this age group. In these studies, drama was used as a method in environmental curriculums, similar to our research.

Cengizoğlu (2013), in his study on the curriculum for sustainable development developed for preschool children examines children's perceptions of the human-environment relationship in accordance with deforestation, biological diversity and climate change, children who did not see human beings as a part of the environment and sustainable practices before participating in the program, After joining, perspectives have evolved about deforestation, biodiversity and the impact of climate change on each other. Another important finding of the research is that the children participating in the program presented their own solutions for a sustainable future. Karimzadegan (2015) concluded that the environmental education increased children's attitudes towards the environment and their knowledge of the environment. In his research, Ahi (2015) examined the effect of the environmental education, which was integrated into the preschool curriculum, on the development of mental models of preschool children about the concept of environment, concluded that the applied program was effective. Liefländer (2015), in his study examining the effectiveness of the environmental education curriculum, concluded that the environmental education has an effect in the short term for children aged 2 years. Yılmaz, Yılmaz Bolat, and Gölcük (2020) stated in their study in which they investigated the attitudes towards the environment, environmental protection, recycling, consumption habits and living habits of preschool children, and that the four-week environmental curriculum improved children's attitudes towards the environment positively.

In line with the findings of the study, the following suggestions can be put forward for the researchers;

• Educators may be suggested to use the drama method in environmental education activities with preschool children.

• Environmental education has been a compulsory course in the preschool teacher education program since 2018. It may be suggested to support teachers who have not taken the environmental education course, or any training on environmental education and sustainability issues.

• Drama method was utilized in this study. The effectiveness of the preschool curriculum in which different methods are used for teaching environmental sustainability behaviors can be examined.



## References

- Ahi, B. (2015). Okul öncesi eğitim programına kaynaştırılan çevre eğitimi programının çocukların "Çevre" kavramı hakkındaki zihinsel model gelişimine etkisi (Unpublished PhD Thesis). Gazi University, Ankara
- Ahi, B. (2021). Erken çocukluk çevre eğitiminde öğretmenin rolü. Erken Çocukluk döneminde Çevre Eğitimi ve Sürdürülebilirlik. Ed: Deniz KAHRİMAN PAMUK. Ankara: Anı
- Aydın, Ö., Aykaç, N. (2016). Yaratıcı Drama Yöntemi ile Verilen Eğitimin Okul Öncesi Öğrencilerinin Çevre Farkındalığına Etkisi. Yaratıcı Drama Dergisi. 11(1), 1-16.
- Bell, D. V. J. (2016). Twenty-first century education: transformative education for sustainability and responsible citizenship. Journal of Teacher Education for Sustainability, 18, 48-56.
- Bener, Ö., Babaoğul, M. (2008), Sürdürülebilir Tüketim Davranışı ve Çevre Bilinci Oluşturmada Bir Araç Olarak Tüketici Eğitimi, Sosyolojik Araştırmalar E-Dergisi.
- Cengizoğlu, S. (2013). Education for Sustainability: Exploring Changes on Young Children's Perception Toward Environmental Problems. (Unpublished MA Thesis), Middle East Thechnical University, Ankara.
- Cottrel, J. (1987) Creative Drama in The Classroom Grades 1-3 Teacher's Resource Book For Theatre Arts National Textbook Company, U.S.A.: Western Michigan University
- Davis, J. M. (2010). Young children and the environment: Early education for sustainability. Sydney: Cambridge Press. https://doi.org/10.1017/CBO9780511845390
- Değirmenci, B. (2020). Yaratıcı drama temelli etkinliklerin okul öncesi çocukların problem çözme ve sosyal beceri düzeylerine etkisi. (Unpublished MA Thesis). Çağ University, Mersin.
- Erdoğan, S. (2006). Altı Yaş Grubu Çocuklarına Drama Yöntemi ile Verilen Matematik Eğitiminin Matematik Yeteneğine Etkisinin İncelenmesi.(Unpublished MA Thesis).Ankara University. Ankara.
- Erol, A. (2016). Proje yaklaşımına dayanan aile katılımlı çevre eğitimi programının 5-6 yaş çocukların çevreye yönelik farkındalık ve tutumlarına etkisinin incelenmesi. (Unpublished MA Thesis). Pamukkale University, Denizli.
- Guler, Y. T., & Korkmaz, A. (2017). "Erken Çocukluk Eğitiminde Sürdürülebilir Gelişme İçin Eğitim". E. Gökçe Türk (Ed.). Çocuk ve Çevresi. Ankara: Ankara University
- Gültekin Çilengir, S. (2019). Okul öncesinde eğitimde drama temelli erken STEM programının bilimsel süreç ve yaratıcı düşünme becerilerine etkisi. (Unpublished MA Thesis). Adnan Menderes University
- Ölekli, N. (2009). 5-6 yaş çocuklarında matematiksel şekil algısı ve sayı kavramının gelişiminde drama yönteminin etkisi. (Unpublished MA Thesis). Selçuk University, Graduate School of Social Sciences. Konya.
- Karimzadegan, H. (2015). Study of environmental education on environmental Knowledge of preschool age Children in Rasht City, Iran. Biological Forum – An International Journal 7(1), 1546-1551.



- Liefländer, A. K. (2015). Effectiveness of environmental education on water: Connectedness to nature, environmental attitudes and environmental knowledge. Environmental Education Research. 21(1), 145–146.
- Önder, A. (2010). Okul öncesi eğitimde eğitici drama uygulamanın önemi ve uygulama ilkeleri. Okul Öncesinde Özel Öğretim Yöntemleri. Ed: Rengin Zembat. Ankara: Anı
- Özkan, B., Tuğluk, M.N., Yiğitalp, N. (2019). Environmental Sustainability Scale for Children 60-72 Months Old: A Validity and Reliability Study. Journal of Education and Training Studies.8(1). 32-41.
- Siraj-Blatchford, J., Smith, K., & Samuelsson, I., P. (2010). Education for sustainable development in the early years. Mondiale: OMEP.
- Tanrıverdi, Ö. (2012). Yaratıcı drama yöntemi ile verilen eğitimin okul öncesi öğrencilerinin çevre farkındalığına etkisi (Unpublished MA Thesis). Muğla Sıtkı Koçman University, Muğla
- Ünal, F. (2011). , İlköğretimde sürdürülebilir çevre eğitiminin yeri, Bilim ve Aklın Aydınlığında Eğitim, 132, 68-73.
- Yıldız, B. (2016). Okul öncesi matematik öğretiminde drama yönteminin etkililiğinin öğretmen görüşlerine göre değerlendirilmesi (Kayseri ili örneği). (Unpublished MA Thesis). Erciyes University, Kayseri.
- Yılmaz, S, Yılmaz Bolat, E, Gölcük, İ. (2020). Erken Çocukluk Döneminde Uygulanan Çevre Eğitim Programının Çocukların Çevreye Karşı Tutumları Üzerindeki Etkisi . Yüzüncü Yıl University Journal of Faculty of Education, 17 (1), 557-578 . DOI: 10.33711/yyuefd.693833

